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1. ......................... axis of rotation is

perpendicular to coronal plane.

(A) Sagittal

(B) Longitudinal

(C) Diagonal

(D) Frontal

2. Which of the following is a uni-axial

joint ?

(A) Hinge joint

(B) Pivot joint

(C) Both (A) and (B)

(D) None of the above

3. ...................... levers are known as

speed multipliers.

(A) Second class

(B) Third class

(C) First and second class

(D) None of the above

1.

(A)

(B)

(C)

(D)

2.

(A)

(B)

(C) (A) (B) 

(D)

3.

(A)

(B)

(C)

(D)

Physical Education
Paper II

II
Time Allowed : 120 Minutes] [Maximum Marks : 200

Note : This Paper contains Hundred (100) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

(100) (2)
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4. Formula for potential energy is

..........................

(A) PE = ½ mv

(B) PE = ½ mv2

(C) PE = mgh

(D) PE = mgh2

5. ...................... is a quantity which has

magnitude and direction.

(A) Scalar quantity

(B) Vector quantity

(C) Both scalar and vector quantity

(D) None of the above

6. The unit of ..................... is Joule.

(A) Energy

(B) Force

(C) Speed

(D) Velocity

7. The centrifugal force is proportional

to .................................

(A) Mass of the object

(B) Square of angular velocity

(C) Both (A) and (B)

(D) None of the above

4.

(A) PE = ½ mv

(B) PE = ½ mv2

(C) PE = mgh

(D) PE = mgh2

5.

(A)

(B)

(C)

(D)

6.

(A)

(B)

(C)

(D)

7.

(A)

(B)

(C) (A) (B)

(D)
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8. For better performance in throwing

events ........................ play an

important role.

(A) Height of release

(B) Angle of release

(C) Speed of release

(D) All of the above

9. Angular velocity is represented by

symbol ...........................

(A) Radial

(B) Omega

(C) Alpha

(D) Theta

10. The unit of power is ......................

(A) Watt

(B) Joule

(C) Newton

(D) None of the above

11. Which does not come under

cognitive motivation theories ?

(A) Goal setting theory

(B) Attribution theory

(C) Unconscious motivation theory

(D) Expectancy theory

8.

(A)

(B)

(C)

(D)

9.

(A)

(B)

(C)

(D)

10.

(A)

(B)

(C)

(D)

11.

(A)

(B)

(C)

(D)
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12. Indian teams performance improves

because of motivation from

spectators. This is ...................

motivation.

(A) Intrinsic

(B) Intrinsic-Extrinsic

(C) Extrinsic

(D) Interactive

13. Arrange the following in correct

sequence for skill learning :

(I) Associative phase

(II) Presentation stage

(III)Automatization stage

(IV) Cognitive stage

Codes :

(A) (I) (III) (IV) (II)

(B) (II) (IV) (I) (III)

(C) (III) (I) (II) (IV)

(D) (IV) (II) (III) (I)

14. What type of motivation is not

applicable to young children ?

(A) Intrinsic motivation

(B) Extrinsic motivation

(C) Achievement motivation

(D) None of the above

12.

(A)

(B)

(C)

(D)

13.

(I)

(II)

(III)

(IV)

(A) (I) (III) (IV) (II)

(B) (II) (IV) (I) (III)

(C) (III) (I) (II) (IV)

(D) (IV) (II) (III) (I)

14.

(A)

(B)

(C)

(D)
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15. Which law of learning is also called
the law of use and disuse ?

(A) Law of exercise

(B) Law of readiness

(C) Law of effect

(D) Law of intimacy

16. Assertion (A) : Hostile aggression

provokes one to harm others

physically

Reason (R) : Aggression is intent

to harm other person mentally or

physically.

In the context of above statements
which one of the following is correct ?

Codes :

(A) (A) is true but (R) is false

(B) Both (A) and (R) are true and

(R) is correct explanation

of (A)

(C) Both (A) and (R) are true but

(R) is not correct explanation

of (A)

(D) (A) is false but (R) is true

17. Set of psychological qualities that

Heena Sidhu would possess :

(I) Concentration

(II) Confidence

(III)Stable muscular strength

(IV) Mental stability

Codes :

(A) (I), (II) and (IV)

(B) (I), (II) and (III)

(C) (I), (II), (III) and (IV)

(D) (II), (III) and (IV)

15.

(A)

(B)

(C)

(D)

16.  (A) :

(R) :

(A) (A) (R)

(B) (A) (R) (R)
(A)

(C) (A) (R) (R)
(A)

(D) (A) (R)

17.

(I)

(II)

(III)

(IV)

(A) (I), (II)  (IV)

(B) (I), (II)  (III)

(C) (I), (II), (III)  (IV)

(D) (II), (III)  (IV)
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18. The primary goal of ................

aggression is the injury of another

player.

(A) Instrumental

(B) Hostile

(C) Over

(D) None of the above

19. Sarcoplasmic reticulum stores ...........

(A) Potassium

(B) Calcium

(C) Iron

(D) Copper

20. A student who is skipping in a zig-

zag pattern is demonstrating an

understanding of which of the

following movement concepts ?

(A) Effort

(B) Space awareness

(C) Relationships

(D) Body awareness

21. Which of the following is a

description of ineffective teaching ?

(A) Students work alone without

supervision

(B) Well organized small group

instructions

(C) Careful supervision by the

teacher

(D) Realistic expectations for

achievement

18.

(A)

(B)

(C)

(D)

19.

(A)

(B)

(C)

(D)

20.

(A)

(B)

(C)

(D)

21.

(A)

(B)

(C)

(D)
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22. Prime trait of ethical principles of

profession is :

(A) Acquiring specific knowledge

(B) Ethical problems occurred in

professional services

(C) Social service

(D) None of the above

23. Arrange the following stages of

development of systematic teaching

skill in correct sequence and select

the code given below :

(1) Initial discomfort stage

(2) Learning how to use your skills

more appropriately stage

(3) Learning how to do more than

one thing at a time stage

(4) Learning varieties of techniques

Code 

(A) (3), (1), (4), (2)

(B) (1), (4), (2), (3)

(C) (1), (4), (3), (2)

(D) (4), (2), (3), (1)

22.

(A)

(B)

(C)

(D)

23.

(1)

(2)

(3)

(4)

(A) (3), (1), (4), (2)

(B) (1), (4), (2), (3)

(C) (1), (4), (3), (2)

(D) (4), (2), (3), (1)
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24. The actual variables in interval

method of training are ..................

(A) Distance, time, reps and

recovery period

(B) Preparatory, competition and

transition period

(C) Distance, transition and

recovery period

(D) Distance, load, sprint, relay

25. Progressive change in ability to

think, reason and act is called as :

(A) Motor learning

(B) Cognitive learning

(C) Affective learning

(D) Perceptual motor learning

26. Countries that have organised both

Commonwealth and Olympic

games............................

(I) England

(II) Australia

(III)America

(IV) Canada

Codes :

(A) (I), (II) and (IV)

(B) (I), (II) and (III)

(C) (I), (II), (III) and (IV)

(D) (II), (III) and (IV)

24.

(A)

(B)

(C)

(D)

25.

(A)

(B)

(C)

(D)

26.

(I)

(II)

(III)

(IV)

(A) (I), (II)  (IV)

(B) (I), (II)  (III)

(C) (I), (II), (III)  (IV)

(D) (II), (III)  (IV)
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27. Identify the content of affective

domain and select the correct code

given below :

(1) Understanding

(2) Responding

(3) Attending

(4) Imitation

Codes :

(A) (1) and (2)

(B) (2), (3) and (4)

(C) (3), (4) and (1)

(D) (2) and (3)

28. Students participation in sports will

lead to ........................ .

(I) Development of Leadership

(II) Conservation of Values

(III)Socialization

(IV) Cultural Exchange

Codes :

(A) (I), (II) and (IV)

(B) (II), (III) and (IV)

(C) (I) and (II)

(D) (I), (II), (III) and (IV)

27.

(1)

(2)

(3)

(4)

(A) (1)  (2)

(B) (2), (3)  (4)

(C) (3), (4)  (1)

(D) (2)  (3)

28.

(I)

(II)

(III)

(IV)

(A) (I), (II)  (IV)

(B) (II), (III)  (IV)

(C) (I)  (II)

(D) (I), (II), (III)  (IV)
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29. I II

I

(a)

(b)

(c)

(d)

II

(1) 1919

(2) 1928

(3) 1954

(4) 1951

(5) 1927

(a) (b) (c) (d)

(A) (3) (1) (5) (2)

(B) (2) (1) (3) (5)

(C) (4) (3) (2) (1)

(D) (5) (1) (3) (2)

30.

(A)

(B)

(C)

(D)

29. Match List-I with List-II and select

correct code given below :

List-I

(a) School Games Federation of

India

(b) The Service Sports Control

Board

(c) Indian Olympic Association

(d) The Board of Control of Cricket

in India

List-II

(1) 1919

(2) 1928

(3) 1954

(4) 1951

(5) 1927

Codes :

(a) (b) (c) (d)

(A) (3) (1) (5) (2)

(B) (2) (1) (3) (5)

(C) (4) (3) (2) (1)

(D) (5) (1) (3) (2)

30. Who framed a national curriculum

for elementary schools ?

(A) NCTE

(B) NCERT

(C) UGC

(D) All of the above
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31. A person’s belief in his or her ability.

To accomplish a specific task or

behavior is called ......................

(A) Health promotion

(B) Self-efficacy

(C) Self-determination

(D) Locus of control

32. Which of the following means and

methods can play a much vital role

in popularizing the concept of

Health Education among all ?

(A) Print media

(B) Seminar and conferences

(C) Electronic media

(D) Cultural interaction

33. Which of the following would require

a prescription from a doctor ?

(A) Vitamin supplement

(B) Birth control pills

(C) Diet pills

(D) Analgesics

31.

(A)

(B)

(C)

(D)

32.

(A)

(B)

(C)

(D)

33.

(A)

(B)

(C)

(D)
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34. In general, primary students who

are heavier than their peers are

likely to find it easiest to be

successful in physical activities

requiring :

(A) Stability

(B) Agility

(C) Speed

(D) Rotation

35. How many different amino acids are

used by the Human body ?

(A) 15

(B) 18

(C) 20

(D) 25

36. The Central Board of School

Education suggests that schools plan

out a Comprehensive School Health

Programme which could be initiated

through :

(A) Taluka Health Department

(B) Government Hospitals

(C) School Health Club

(D) Village Health Officer

34.

(A)

(B)

(C)

(D)

35.

(A)

(B)

(C)

(D)

36.

(A)

(B)

(C)

(D)
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37. The Government agencies provide

recreation through .................

(A) Internal service

(B) Departmental service

(C) District service

(D) Extension service

38. Which of the following is NOT a

major component of school health

program ?

(A) Physical education

(B) Healthy school environment

(C) Health insurance for students

(D) Nutrition services

39. The components of wellness include

all the following except :

(A) Spiritual

(B) Intellectual

(C) Psychological

(D) Physical

40. Amongst four most popular

countries the highest obesity

children and young adults are found

in :

(A) Russia

(B) China

(C) United States

(D) India

37.

(A)

(B)

(C)

(D)

38.

(A)

(B)

(C)

(D)

39.

(A)

(B)

(C)

(D)

40.

(A)

(B)

(C)

(D)
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41. A reduction in training intensity and

volume to facilitate a peak

performance is .........................

(A) Recovery

(B) Rest

(C) Taper

(D) Training

42. A ................... comprises of a number

of training sessions that can span

from 7 to 10 days :

(A) Training unit

(B) Training schedule (micro-cycle)

(C) Training plan

(D) Macro-cycle

43. Match List-A and B and select

correct option :

List-I List-II

(1) THR (I) 30 m. dash

(2) Aerobic (II) 130 bpm

(3) Anaerobic (III) Football

(4) Aerobic + (IV) Marathon

Anaerobic

Codes :

(1) (2) (3) (4)

(A) (II) (IV) (I) (III)

(B) (III) (IV) (II) (I)

(C) (I) (III) (II) (IV)

(D) (III) (I) (IV) (II)

41.

(A)

(B)

(C)

(D)

42. 7 10 

(A)

(B)

(C)

(D)

43. ‘A’ ‘B’ 

-I -II

(1) (I) 30 

(2) (II) 130 

(3) (III)

(4)  + (IV)

(1) (2) (3) (4)

(A) (II) (IV) (I) (III)

(B) (III) (IV) (II) (I)

(C) (I) (III) (II) (IV)

(D) (III) (I) (IV) (II)
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44. The aim of technique training in the

third phase of skill acquisition

is ............................

(A) To achieve mastery over the

technique

(B) To achieve rough coordination

in skill

(C) To achieve fine coordination in

technique

(D) To achieve skill conditioning

45. Calculate THR at 85% intensity for

a 24 year old Kho-Kho player whose

RHR is 64 bpm and who wants to

perform 20 min. aerobic activity :

(A) 176.2 bpm

(B) 177.2 bpm

(C) 175.2 bpm

(D) 168.2 bpm

46. ............... are the plans prepare in

advance of a competition, which will

place an individual or team in a

winning position.

(A) Techniques

(B) Strategies

(C) Tactics

(D) Style

47. ...................... is a process of

performance comparison among

sports persons or sports teams.

(A) Sports competition

(B) Sports association

(C) Sports organization

(D) Sports federations

44.

(A)

(B)

(C)

(D)

45. 24 

85%

(A) 176.2 

(B) 177.2 

(C) 175.2 

(D) 168.2 

46.

(A)

(B)

(C)

(D)

47.

(A)

(B)

(C)

(D)
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48.

(A)

(B)

(C)

(D)

49.

(A)

(B)

(C)

(D)

50.

(I)

(II)

(III)

(IV)

(A) (I)  (II)

(B) (I), (III)  (IV)

(C) (II), (III)  (IV)

(D) (I), (II), (III)  (IV)

48. To find and develop talent for high

performance several years ahead in

the future is the aim of ...................

(A) Sports talent identification

process

(B) Sports organization talent

procedures

(C) Sports association talent

procedures

(D) Sports federation talent process

49. The sum total of pre-requisites

possessed by a person which will

enable him to achieve high

performance in a sport in future

is ..............................

(A) Sports competition

(B) Sports camp

(C) Sport talent

(D) Sport training

50. Main physical qualities required for

110 m hurdlers are ....................

(I) Speed

(II) Anaerobic power

(III)Flexibility

(IV) Muscular strength

Codes :

(A) (I) and (II)

(B) (I), (III) and (IV)

(C) (II), (III) and (IV)

(D) (I), (II), (III) and (IV)
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51. Match the following physical fitness

components with their respective

test :

List-I List-II

(a) Strength test (1) Bleep test

(b) Aerobic Fitness(2) Sit and reach

test

(c) Body (3) 30 m flying

Composition test

(d) Speed (4) 1 RM

(5) Hydrostatic

weighing

Codes :

(a) (b) (c) (d)

(A) (4) (3) (1) (2)

(B) (4) (1) (5) (3)

(C) (2) (3) (5) (1)

(D) (4) (2) (3) (5)

52. Which of the following is NOT

affecting measurement while

administering psychomotor test ?

(A) Sequence of test

(B) Appropriate warm up

(C) Equipment

(D) Geographical condition

51.

-I -II

(a) (1)

(b) (2)

(c) (3) 30 

(d) (4) 1 

(5)

(a) (b) (c) (d)

(A) (4) (3) (1) (2)

(B) (4) (1) (5) (3)

(C) (2) (3) (5) (1)

(D) (4) (2) (3) (5)

52.

(A)

(B)

(C)

(D)
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53. Select the correct answer from the

choice given below :

(I) Quality of movement is the

point of focus in product

evaluation.

(II) Rating scale is used for product

evaluation.

Codes :

(A) Both (I) and (II) are correct

(B) (I) is correct and (II) is wrong

(C) (II) is correct and (I) is wrong

(D) Both (I) and (II) are wrong

54. Calculate and interpret WHR with

the help of the table below. Waist

circumference of the man is 95 cm

and hip circumference is 101 cm :

Classification Men Women

(risk of

disease)

High risk >1.0 >0.85

Moderately

high risk 0.90-1.0 0.80-0.85

Optimal low

risk disease <0.90 <0.80

(A) Optimal low risk disease

(B) Moderately high risk

(C) High risk

(D) Obese

53.

(I)

(II)

(A) (I) (II)

(B) (I) (II)

(C) (II) (I)

(D) (I) (II)

54.

Classification  Men Women

(risk of

disease)

  >1.0  >0.85

0.90-1.0 0.80-0.85

<0.90 <0.80

(A)

(B)

(C)

(D)
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55.

(A)

(B)

(C)

(D)

56.

(A)

(B)

(C)

(D)

57.

(A)

(B)

(C)

(D)

58.

(A)

(B)

(C)

(D)

55. SAI Volleyball Test items are ...........

(A) Service, Passing and Medicine

ball throw

(B) Service, Passing and set-up

(C) Volleying, Service and Passing

(D) Service, Wall Volleying and

Medicine ball throw

56. Which one of the following

definitions describes the term

validity ?

(A) Consistency of the test

(B) Honesty of the test

(C) Value representative of a

particular population

(D) Usefulness

57. Neuro-Psychological Test attempts

to measure ..............................

(A) Intelligence

(B) Concentration level

(C) Behaviour

(D) Deficit in cognitive functioning

58. What is the problem with this stem

of the question ?

‘‘Do you think physical fitness

activities and Yoga should be included

in secondary school curriculum ?’’

(A) A leading question is used in

this stem

(B) A loaded question is used in this

stem

(C) Double barreled question is

used in the stem

(D) There is no problem with the

stem
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59.

(A)

(B)

(C)

(D)

60.

(A)

(B)

(C)

(D)

61.

(A)

(B)

(C)

(D)

62.

(A)

(B)

(C)

(D)

59. Which of the following statements

is NOT correct ?

(A) Measurement can be qualitative

(B) Summative evaluation begins

during the early stages of

teaching

(C) Importance of the summative

evaluation is to grade the

student at the end of the

semester or course

(D) Evaluation is an outcome

60. Which of the following is traditional

technique of Assessment ?

(A) Exhibitions

(B) Written test

(C) Project

(D) Event task

61. The new sports policies for the Sports

Associations is based on :

(A) Corporate Governance Framework

(B) Society Registration Act

(C) European Union Model

(D) UK Based Model

62. The main financial planning tool for

sports planning is :

(A) Balance sheet

(B) Cash flow forecast

(C) Income and Expenses

(D) All of the above
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63.

(A)

(B)

(C)

(D)

64.

(A)

(B)

(C)

(D)

65.

(A)

(B)

(C)

(D)

63. Which of the below is an example

of cooperative activities ?

(A) Students work together to reach

a consensus as a group

(B) The students crawl and then

walk forward across the bench

and then sideways and

backwards

(C) The instructor stands in front

of the class or group and

lectures or advices

(D) The instructor assumes a more

passive role and guides the

student interactions

64. .................... are the resources that

provide utility value to all other

resources.

(A) Men

(B) Material

(C) Money

(D) Machinery

65. What is used to attract the customer ?

(A) Promotion

(B) Marketing

(C) Advertising

(D) Selling
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66. Which terminologies used in

managing the facilities are

appropriate ?

(A) Controlling, planning, organizing

(B) Staffing, organizing, planning

(C) Directing, staffing, controlling

(D) Booking, scheduling, safety and

housekeeping

67. The strategic planning for sports

organizations shall begin with ...........

(A) Budgeting for the project

(B) Internal and external

environment

(C) Vision, mission and objectives

(D) Operational functions

68. The present value of cash inflows are

greater than the present value of cash

outflows, the project would be :

(A) Accepted

(B) Rejected with condition

(C) Rejected with approval

(D) Rejected

69. A teenager smoking cigarette

(tobacco) for 1 year is most likely to

have this health problem :

(A) Lung cancer

(B) Pneumonia

(C) Chronic bronchitis

(D) Emphysema

66.

(A)

(B)

(C)

(D)

67.

(A)

(B)

(C)

(D)

68.

(A)

(B)

(C)

(D)

69.

(A)

(B)

(C)

(D)
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70. Non-sampling errors are introduced

during :

(A) Processing of data

(B) Analysis of data

(C) Sequencing of data

(D) Collection of data

71. Name of the body part the

enlargement of which is often used

as an Index of Child’s Growth :

(A) Shoulders

(B) Chest

(C) Legs

(D) Waist

72. ‘‘Physical Education is a

fundamental right to every citizen’’

is included in :

(A) WHO

(B) SNIPER

(C) HRD Ministry

(D) UNESCO

70.

(A)

(B)

(C)

(D)

71.

(A)

(B)

(C)

(D)

72.

(A)

(B)

(C)

(D)
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73. Philosophy of physical education

program is ..........................

(I) Realism

(II) Pragmatism

(III)Idealism

Codes :

(A) (I) and (III)

(B) (II) and (III)

(C) (I), (II) and (III)

(D) (I) and (II)

74. Free hand activities generally done

in group is :

(A) Flag drill

(B) Plyometrics

(C) Calisthenics

(D) Weight training

75. For a sport to be included on the

Summer Olympic program :

(A) Men and women in at least 25

countries on 4 continents

(B) Men in at least 25 countries on

3 continents and women is at

least 25 countries on 4

continents

(C) Men in at least 75 countries on

4 continents and by women in

at least 40 countries on 3

continents

(D) Men in at least 25 countries on

4 continents and women in at

least 25 countries on 3

continents

73.

(I)

(II)

(III)

(A) (I)  (III)

(B) (II)  (III)

(C) (I), (II)  (III)

(D) (I)  (II)

74.

(A)

(B)

(C)

(D)

75.

(A)

(B)

(C)

(D)
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76. Which of the following would ensure

healthy joints ?

(A) Use of massage oil

(B) Eating more proteins

(C) Lifting heavy weights

(D) Maintaining healthy body

weight

77. The ability to use strength quickly

to produce an explosive effort is

..................

(A) Agility

(B) Aerobic endurance

(C) Muscular power

(D) Anaerobic endurance

78. The ‘National Sports Organization’

is an effort by the Government of

India to promote :

(A) Youth of India towards fitness

(B) The development of athletics

and sporting activities for youth

(C) Fit India with fit people

(D) Sports for talented youth

76.

(A)

(B)

(C)

(D)

77.

(A)

(B)

(C)

(D)

78.

(A)

(B)

(C)

(D)
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79. ................... is a creative and dynamic

process giving friendly guidance and

direction to teachers and pupils for

improving themselves and the

teaching-learning situation for the

accomplishment of the desired goals

of education.

(A) Supervision

(B) Direction

(C) Participation

(D) Teaching

80. A period between macro cycles is

...................................

(A) Transition period

(B) Training period

(C) Competition period

(D) Tactics period

81. The body weights of college students

is a ................................

(A) Discrete variable

(B) Qualitative variable

(C) Continuous variable

(D) None of the above

79.

(A)

(B)

(C)

(D)

80.

(A)

(B)

(C)

(D)

81.

(A)

(B)

(C)

(D)
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82. Match the columns and select the

appropriate code :

Column I

(1) Quantitative observation

(2) Qualitative observation

(3) Laboratory observation

(4) Naturalistic observation

Column II

(i) Observing all potentially

relevant phenomenon

(ii) Observation done in laboratory

(iii) Standardized observation

(iv) Observation done in real world

settings

Codes :

(1) (2) (3) (4)

(A) (iii) (i) (iv) (ii)

(B) (iii) (i) (ii) (iv)

(C) (iii) (ii) (i) (iv)

(D) (iii) (iv) (i) (ii)

83. The fact that participant’s

performances change when attention

is paid to them, this effect is known

as............................ .

(A) Reactive effect

(B) Avis effect

(C) Hawthorne effect

(D) Interactive effect

82.

 I

(1)

(2)

(3)

(4)

II

(i)

(ii)

(iii)

(iv)

(1) (2) (3) (4)

(A) (iii) (i) (iv) (ii)

(B) (iii) (i) (ii) (iv)

(C) (iii) (ii) (i) (iv)

(D) (iii) (iv) (i) (ii)

83.

(A)

(B)

(C)

(D)
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84. In qualitative research ‘theoretical

saturation’ means ............................

(A) Deciding on a theory and testing

it repeatedly

(B) The point at which a concept is

so well developed that no

further data collection is

necessary

(C) Using too many theories in data

analysis

(D) State of frustration caused by

using every possible statistical

test

85. Which of the following is NOT

normally included in a qualitative

research report ?

(A) An introduction

(B) Explanation of study design

(C) Discussion of main findings

(D) Decision to accept or reject

hypothesis

86. All else being equal, it is more likely

results will be statistically

significant, if :

(A) You have a representative

sample

(B) You have a larger sample

(C) You use random sampling

(D) All of the above

84.

(A)

(B)

(C)

(D)

85.

(A)

(B)

(C)

(D)

86.

(A)

(B)

(C)

(D)
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87. Which of the following show the

proportion of variance shared

between two variables ?

(A) Coefficient of determination

(B) Standard error

(C) Correlation

(D) ANOVA

88. What is meant by a ‘Spurious’

relationship between two variables ?

(A) A relationship that appears to

be true because each variable

is related to a third variable

(B) Relationship that is illogical

and not true

(C) Relationship that is a perfect

negative correlation

(D) Relationship that is a perfect

positive correlation

89. The mean of a distribution is 23, the

median is 24 and mode is 25.5. It

is most likely that this distribution

is :

(A) Negatively skewed

(B) Positively skewed

(C) Symmetrical

(D) Asymptomatic

87.

(A)

(B)

(C)

(D)

88. (spurious)

(A)

(B)

(C)

(D)

89.

(A)

(B)

(C)

(D) (Asymptomatic)
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90. A cross-sectional study is carried out

to examine whether athletes of

international level have more

positive stress management skills

than those of a national level. Which

of the following statements is true

for this study ?

(A) Independent variable is stress

management skills and

dependent variable is level.

(B) Independent variable is level

and dependent variable is stress

management skills

(C) Independent variable is stress

management skills and

dependent variable is

international level

(D) Neither of the variable is

dependent

91. One of the following is not the effects

of anabolic Androgenic steroids :

(A) Acne

(B) Facial hair

(C) Weight loss

(D) Scalp hair loss

92. Pangamic acid is ...........................

(A) Vitamin B-1

(B) Vitamin B-6

(C) Vitamin B-12

(D) Vitamin B-15

90.

(A)

(B)

(C)

(D)

91.

(A)

(B)

(C)

(D)

92.

(A)

(B)

(C)

(D)
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93. A fat like compound found in animal

tissues thought to cause

atherosclerosis is  :

(A) Glucagon

(B) Cholesterol

(C) Cortisol

(D) Glucose

94. Local and temporary deficiency of

blood, chiefly due to the contraction

of a blood vessel is ........................

(A) Ischemia

(B) Insulin

(C) Hemolysis

(D) Hematuria

95. A predetermined maximum safest

heart rate of an individual be

obtained by Hemax = ...................

(A) 100 – age

(B) Height in cms – 100

(C) 220 – age

(D) 120 – age

96. The rupture of red blood cell is ...........

(A) Haemoglobin

(B) Hemodilution

(C) Hematuria

(D) Hemolysis

93.

(A)

(B)

(C)

(D)

94.

(A)

(B)

(C)

(D)

95.

(A) 100 –

(B) 100

(C) 220 – 

(D) 120 – 

96.

(A)

(B)

(C)

(D)
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97. A lack of sufficient red blood cells

or haemoglobin is .......................

(A) Aneurysm

(B) Androgen

(C) Anemia

(D) Apnea

98. A clot transported by blood from a

vessel and forced into a smaller one,

thus obstructing circulation is ..........

(A) Osmosis

(B) Diffusion

(C) Dyspnea

(D) Embolus

99. In the formula VO2 = S.V.× H.R. ×

a – v O2 diff.

a – v O2 diff. stands for ...................

(A) Arterial oxygen difference

(B) Arterial-mixed venous oxygen

difference

(C) Arterial venous difference

(D) Venous oxygen difference

100. Static lung volumes ......................

(A) Can predict exercise performance

(B) Cannot predict exercise

performance

(C) are larger for untrained

(D) are lower for trained

97.

(A)

(B)

(C)

(D)

98.

(A)

(B)

(C)

(D)

99. VO2 = S.V. × H.R. × a – v O2 diff.

a – v O2 diff. 

(A)

(B)

(C)

(D)

100.

(A)

(B)

(C)

(D)
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ROUGH WORK
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ROUGH WORK


